CFA.

Designz*

&

R REEEPAR AR B AR, TERL L, i AR
B
- REFER, TXH,
-+ aisi303 7 4 4 e ¥ .
'%%ﬁ%:
— 2 ERFATE, TR
— 23 R R AT
-2 AT R~ ARLmEAL

23T R R L mE L,

I ERFANE, TN, DR ISERT SR,
-1t #RAtE, F8, DWERIRATH AELREL.
- 1xtERAtE, T8I, DERIHATHY LS 2E 1.,
— IR TEAF, WERIRA TR AELEL,
— I RN EF, ARIRATHMLELEL,
- fEd A RoA200°, 7EQ°E[-40° ) K 0°F|180° 2[4 (0°=1 /M I 24 # iy
RO AR —F @ LR,
FEBH R AGRRASILE), £ 2P mREmimREeR,
CFKAFZFARAN EERARFEHEAFREH), ATHFEZERD
B BT R
FRERRY, EAZFERAFENRRELHRNGAE, HEILFES24T
L HHEE,

d4

h1

hz
4,

h
7
7

# £ (B) AT (P) i 7l SH

ds d4

_.=d3=._ * d1‘ | - ‘ T d1 dzl

#f 2(B)/ AT (p) +f £(B)/iE FL.SH

d4 ds
Q -
oS | R |
N =N

7% (B)/H 7L.CH 4% #F (p)/E 7L.SH %41 (p)/3E 7LCH

@ [ Elemnn'l'[n'] "ELESA™ and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

7
%
ha




©)

CFA.

Design F#y°

| oA N
f \.
. — A
v | ) Jﬁ@ E@J AN
|
~
A
2 ' RS
TR
FRAEE * R+t 3
#HE BEA EFL
AR i B L f=sfi®os H m h b d | d h | d2 | | d3 d¢ d5 hs g
422391 | CFA.40 B4 M4 65 - - - - - - 23
422411 | CFA.40 SH4 385 395 251 25 14 95 95 14 3 - - - - 45 85 - - 14
422412 | CFA.40 CH4 - - - - 45 - 85 45 14
422111 | CFA.49 B-M5 M5 85 - - - - - - 39
422113 | CFA.49 BM6 M6 8 - - - - - - 38
422121 | CFA.49 pM5x14 - - M5 14 - - - - 45
422131 | CFA.49 SH-5 - - - - 55 10 - - 29
422132 | CFA49 CH5 - - - - 55 - 10 55 29
422141 | CFA49BM5pMBEX14 ¥ 495 305 31 19 18 1 17 4 ys g5|mMs 14| - - - - | a4
422151 | CFA.49 BM5-SH-5 M5 85 - - 55 10 - - 34
422152 | CFA.49 B-M5-CH-5 M5 85 - - 55 - 10 55 34
422161 | CFA.49 p-M5x14-SH-5 - - M5 14 | 565 10 - - 37
422162 | CFA.49 p-M5x14-CH-5 - - M5 14 | 55 - 10 55 37
422211 | CFA65 BB M6 105 - - - - - - 85
422221 | CFAB5 p\ViBx18 - - M&é 18 - - - - 90
422231 | CFAB5 SHE - - - - 65 M5 - - 62
422232 | CFAB5CHS6 - - - - 6.5 - 105 65 62
422241 | CFAGSBM6pMEx18 |64 65 40 40 23 15 135 24 5 M6 105| M6 18 - - - - 88
422251 | CFA 65 BMB-SH-6 M6 105 - - 65 115 - 74
422252 | CFA.65 B-M6-CH-6 M6 105 - - 6.5 - 105 65 74
422261 | CFA.65 pVIBX18-SH-6 - - M6 18 | 65 M5 - - 76
422262 | CFA.65 pVBx18-CH-6 - - M6 18 | 65 - 105 65 76
422311 | CFA.97 B-M10 M10 15 - - - - - - 306
422321 | CFA.97 p-M10x20 - - M10 20 - - - - 330
422331 | CFA.97 SH-10 - - - - 105 20 - - 221
422332 | CFA.97 CH-10 - - - - 105 - 165 105 | 221
422341 | CFA97 BMM10pM10x20 1975 965 595 625 35 23 205 35 8 [MIO 15 | M0 20 - - - - 318
422351 | CFA.97 BM10-SH-10 M10 15 - - 105 20 - - 264
422352 | CFA.97 BM10-CH-10 M10 15 - - 105 - 165 105 | 264
422361 | CFA.97 pM1020-SH-10 - - M0 20 | 105 20 - - 276
422362 | CFA.97 pM10x20-CH-10 - - M0 20 |105 - 165 105| 276
“ELESA" and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source

when reproducing our drawings.

2 (€lesaGANTER]




CFA.

Designzy°
f1
- d4 3 [~ .
| —1_—'\
\ :-’ﬁ: ——A)
T ' "v-..._.:"._.i L\":y
2] i 1
- . . @: 1 | Q _
CFKA & L 1
Cmure
REHS F R+t B B8 | L\...-r [
A5G Bl = B L f 02 fj 025 H h2 d3  da g B
424811| CFK49SH5(|48 49 31 30 19 11 55 10 12
©in ST 1®
S - I | i t
Tammma Juami
@ ) 7 A {'
Y e ¥ ik
1T 1 { —E_z
BRZHEE 1\ % A R 90° ff % Jr &
BTEEZEhEE tho) 5 SR 90° BmENEE ﬁd[t#?:ﬁ'iﬁﬂi
= N * M
R 3= RATIEHT | BHR{ET | JRAIESRT | WRJ|WE | |FAKITEHT | BRIGET |SH/CH B p
Er[N] Rr[N] Ea[N] Ra[N] E9O[N] RIO[N] ST
422391 | CFA.40 B4 240 2220 200 2050 100 730 - |5 |-
422411 | CFA.40 SH-4 290 2030 130 2080 280 1520 1 - | -
422412 | CFA.40 CH4 230 1760 137 1800 180 1330 1 - | -
422111 | CFA.49 B-M5 440 3070 400 3770 170 1470 Y
422113 | CFA.49 B-M6 470 3250 330 3250 110 1540 Y
422121 | CFA.49 pM5x14 360 1970 370 3070 200 1680 - Y
422131 | CFA49 SH-5 280 2880 540 2960 320 2490 2 | - |-
422132 | CFA49 CH-5 310 2530 360 3080 250 1620 2 |- |-
422141 | CFA.49 B-M5-pM5x14 360 1970 370 3070 200 1470 . | A A
422151 | CFA.49 B-M5-SH-5 280 2880 400 2960 170 1470 2 |- |-
422152 | CFA.49 BM5-CH-5 320 2530 360 3080 170 1470 2 |- |-
422161 | CFA.49 p-M5x14-SH-5 280 1970 370 2960 200 1680 2 | - | A
422162 | CFA49 p-M5x14-CH-5 320 1970 360 3070 200 1620 2 | - | A
422211 | CFA.65 B-MIB 690 5670 640 4570 220 2280 . | A
422221 | CFA.85 pM6x18 460 6620 510 5890 220 3190 ; - | A
422231 | CFA65 SH-6 720 6270 520 4760 240 4180 3 |- |-
422232 | CFAB5 CH-6 490 5790 510 5280 260 3190 5 | - | -
422241 | CFA.65 B-M6-p-M6x18 460 5670 510 4570 220 2280 - | A A
422251 | CFA 65 B-M6-SH-6 690 5670 640 4570 220 2280 3 | A
422252 | CFA65 B-M6-CH-6 490 5670 510 4570 220 2280 5 | A .
422261 | CFA.65 pM6x18-SH-6 460 6270 510 4760 220 3190 3 - | A
422262 | CFA85 p-MBx18-CH-6 460 5790 510 5280 220 3190 5 | - | A
422311 | CFA.97 B-M10 2120 17940 970 7660 590 5210 . | A
422321 | CFA.97 pM10x20 1730 16190 890 5950 460 3690 . - | A
422331 | CFA97 SH-10 1230 10460 1110 6730 510 4100 A | |
422332 | CFA.97 CH-10 2060 13670 1050 4860 540 4760 A | _ |
422341 | CFA.97 B-M10p-M10x20 1730 16190 890 5950 460 3690 . | A A
422351 | CFA.97 B-M10-SH-10 1230 10460 970 6730 510 4110 A | A | _
422352 | CFA97 B-M10-CH-10 2060 13670 970 4860 540 4760 A | A | _
422361 | CFA.97 pM10x20-SH-10 1230 10460 890 5950 460 3690 A | _ A
422362 | CFA.97 pM10x20-CH-10 1730 13670 890 4860 460 3690 A | _ | A

* AT R B EMELSNM, FHRERZENE,

€ | [ el '] ‘ELESA™ and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
e‘allnnnll[n when reproducing our drawings.




